=Q1 2RITE T | & 5| 6 |seme
1] 7K [PiHaR (£4213:30~) 16:40 | b4
2| & 16:40 g 5‘%
3| & |@mxman

NEA LY

5B |@ZEtmA

6| B |@EEHA

7| k|3 T nmERRET R 16:20 |

8| 7 16:40 g 5‘%
O K |E/N B IS = i L B bl | 2 o

10| € s at T 7—ay 16:40 [ #
e

12| 8

13| B [figHes FER) 13:30 | &

14| X |[RR2EE 1 FRELE 16:40 [ & 2
15| 7k 16:40| 3 L
16| & 16:40 [ 22
17l & 16:40 g’“ ?ﬁ
18] +

19| B

20 |B | ERFRRAERE HEBORE [ 15,9 &

21| ke | 3 1% 5IRTTH g I i
22| 7k [3E£ESRT 1B E 16:20 |

23| & 3 siriT2E B 16:20 [ &

20| 2 [CFEBFRICHE BOBECEN |15 5
25| +

26| B

21| A [#ems (1) 15:20 [ &

20| 4 [FRBERES 1RERSHCTT |1yl B
29| 7k | 1 IR EBHE 1 HE 16:40 [ 2
30| K |1 EERERE2 BE 16:20 |

31| g [WERRE (1 - 3F10:20~11:40) |69 mg 22

R (PR




